M LT I B R A C K ET S

2]
N | i El
| é
0 ol -

M Motorized Floorstand 160 kg White

© rlod @i 50 | uag
® Gulvstativ

® Bodenstander

® Emdatédia Baaon

® Floor Stand

® Soporte de suelo

© Lattiateline

© Socle au sol

@ Supporto da terra

® Gulvstativ

® Podstawa na podtoge
® HanonbHas nogcraBka
© Golvstativ

© Zemin Sehpasi

@ % b &2

www.multibrackets.com



I

i e R P = LEE jom o e 2
i i e bt L e e e e
Al e !

i, ) g it i il e W e byt it

Biwm riwe g shnmy, panaer e ETTE ] I wmggen
gudeni

ok S e A0 pAREETE SR Pavs 001 o repdeeTd 1

Fiwm i i on noget | rrasd ar ul Tt
o ke

ACHTUMNG!

e Flams- LCT-, T-(Rmll. Hr Progeirk, [hre Leiraend oree enesige HIF=lenisiesg
L Enen hernichriohen Wan dar,

(D (rohghotarmiseg 1 Laforerking mvdetetin Soivaubsen b el LimedGodun ol
e s Matera’ b Wencs, Decsan odar Bcoun geengried
m&-hwmmm.

‘Wi Ga Dl hoh ded Wlornge-tee Proed usis u et e, waraan B gioh an sren
Faittan

IHMANTIEOI _

4 el Plasmi, L0001, b soetawli; (PLDIng, o o] Ppofel inr 1) Ak
ey, HiF iy pn afoorpiaie dfa

A iy s A TG WS e e AN e T LN e TS, e
TERHIRAR) ) YT TR KTV 0,

ATRTITRITNTE g TR L STV O T VRN 1T,

Hérpw rogetrricts Hiod Bevdion : OEETRD e
NPEETEeT)ay ALn ) meatany n'n:l-:lhvl- HAE. SHTTE e
IMPORTARTI

Yoar Plawmy, LEDL T Prgssion, Frogecior Somsss oy aiher | 0F] squpren ispress @
el er by v

rmﬂmmﬂqmnﬂhmruhlmlummulmm
o
Miggpcm Hu ey with sl brpke oras © resssed

1 e ) o Ly reganding any el of e mooeing of e piosut pidess
Conaall & Siifissnnl

IMPORTANTE
mmumnmnmmwrmmw
i th sl
J-mem"umm“li-“ﬁmm
Aorreaod Le paradl el iecnin 0 o sl

Byt B LOTENTS o0 D0 P SE L0 51 B [esan

E ru kit napur e Cus e dud ¥ da mnin ol wi Lt
pnfesior

TARKEAM

Ermrer- 1 i s, A, [POETeRn [ eaion valkplorre o modl
AT P RSO0 et D41 DOOTTRLI

LR Froh i SETE SR fuibel] e IR AL el L B, Wk T T
rridi b ki i

Foryym i nclisessn snpadm neesia.

Aokl e e BT 5D FANTERE S TLER DR R TR TTSIATE fY Bl el sl
ol P SRR,

IMPORTANT!
Wi Bt e, LOD, WA or. PR EOranE di DI eLaih Sl Masine
#hi ool o vale codaidirutin

i v lparreen e o b aim i v eure. gl
e

FBT R [N R e Mk D

B wmm il mi de e e, suting oot un profos-

mpnesl

el o Tl e

| vouw plwme, LD, TV, prossinr, echaned i prosseons o it prpsrsccid H-R o
[RESETIAND LT NI TR TRATIE

Lo 44 | OO POUELGAT Tl S001 SO S8 I TR ol Sl paeli, 96
T8 43 dhad jraerramtia.

sty rraredi 2on W (AU mksre e o maonaed

P S0 POt probRIP | f TR O GOENN) [FTOTT. SORERRBEE o 0o
[T F e

VIKTIG!

[os phania, LD TV proyekdin. Seigsh koot oo oo sl HeE-clahd D Balgdul g
ok

Pobyvm s daipur rvsnl, e e ko miacan B (i (e B raneade | ereggn, Lk sEpr
11

Byt ki et | ahiiidi soe ar il o edeEnig

it il e umidart nar Sed gaiiet wo thrie | i £riin 1
e

LW AGEAY

Wander plramsy. LETD, isbrwaior, propmio, sons piss g b nmy aprms 68|
piarew ITasaTa maniot

i SO ROTOFD B0 P ey SO0 R0, MDD SPa 1 Dy OO Oetd v i e i
:wmm-&mm-hmm

¥ rasm rateny o I-

¥ O S iy o, AR L N, TIR T T D W0 (¥ T Ty

S AL farahy Uity

BHAMAHMWE!

Fol b gt 1Sy Sl b HoF | il 10 1T Edita il i1, o i
M HH HZEH, -

AP F AT | T

et DORITIE STV RIE, AJeTOTARAT 8 STRIUAECTR, NOBOIIT § RA TS DRl AT/ BRI RS (100,
TRATO gl el RO
g p—

TR i E ST B P o T Apeiial
TRCATET, NGRS, POR 8T P TrATFRREDE ¥ KTRLNH{ L B30 H D CTRH1 M
WVIKTIGTY

[im plinmagifom LOE-ghlnm, T, GIoeial, propyamasd i ¢er snnan HIF epraaimng
TR TR B g s ik
s .

et bt e g
Byt ul BhILrAaTTa e EITG DA NETASE (I EEA T

KON a1 e remi o oo A o8B 83 REg0L T STVnOn et IO e TgEn (T DI
an

hﬁrﬁ*ﬂdﬁwhmlw

GMEMLI

Piaenim, LED TV, Peopaid®, Prowsids Ebiin ey ibjer HF Chmarin don s
TS

Driaja snrien vilstsr diser. tyaen vings dBnme sach e uyen dnayshd,
erkrkjreie sralar wygan olapara defssann

Hur urusar s sk ti gL T i alrdict dan
EEETE
EEEETF. LGH TV BEH. SR NEEHT HF B ERET IO,

EREFAE e AT HAtnaE. A0,
BEER HAdUPRLERMDE,

EERHESEENEEN SN AAET LA

www.multibrackets.com



- i
u ﬂ
1
|
A (1x) B (1x) C (1x) D (2x) K (1x) SW 6
M8x16 8 M5x6
®» | f
)z = ¢
E (4x) F (4x) G (4x%) H (8) | (4x) J (4%)
2
s S| %
A (1x) B (2x) C (2x) D (1x) E (1x)
a M10x25 [ b M8x20 | C mex18 |d 8 |e 6 f M8x16
| ® i 7
(4x) (4%) (4x) (6x) (4x) (2%)

OO

SW5
6

i
[ =0

SW 12 Phillips head

www.multibrackets.com




e
1.( * G
.
2
CLICK

www.multibrackets.com



AN (@) \
SW6
1. Hang the Wall mount on the Mobile stand.
2. Tighten the screws.
S

A Lo
W 5/6/8 VESA < 900 x 800

VESA

350-900
o
o)

800

VESA = 1000/ 1200 x 800

www.multibrackets.com



1. Check mains voltage. The mains voltage should correspond
to the one specified on the rating plate located on the left side
of the frame.

2. Plug the enclosed mains cable into the power socket (B) on
the left side of the wall mount frame.

3. Plug the other end of the mains cable in the grounded outlet.

4. Connect the remote control to the socket (A) on the frame.

5. To raise the wall mount press the button A (UP), to lower the
wall mount press the button W(DOWN) on the remote control.

Lifting function does not work >> Folowing steps should be taken:

1. Check the power cord for any possible damage.

2. Make sure the power cord is properly into the socket (B).

3. Check the fuse in the main socket. If it fails replace the fuse with the same type as the original (1,6 A).
4. Check the connection between the remote control and wall mount socket (A).

www.multibrackets.com




